= |EEA
A |eco
@j\r PASS

PORT. - hager

Product Environmental Profile
Rocker switch 2-gang black

Company information References covered

Hager WL6053,WL6052,WL6050

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile:
infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version No PSR issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Reference product identification Cover plate of control element for domestic switching devices
WL6053

Use scenario based on :
PSR product Category : No PSR The functional unit is based on the use scenario recommended by the PCR for the category of the reference
0 product.

Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
g % g % g %

ABS 9.98 47.4% Calcium 0.01 <0.1% Cardboard 8.83 42.0%

O PP 1.00 4.7% Silicon 0.00 <0.1% Wood 0.50 2.4%
PE-LD 0.10 0.5% Cardboard 0.40 1.9%
Epoxy resin 0.05 0.2% Other 0.07 0.3%
Polyester resin 0.05 0.2% Titanium dioxide 0.04 0.2%
Other 0.04 0.2%

Total mass of reference product with raw material

. 21.
packaging : 069

Total mass of reference product
(Product + packaging)

19.84 ¢

PEP ecopassport 1/5 HAGE-01333-V01.01-EN



System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from “cradle to grave".

Manufacturing Distribution Installation Use End of life

<
o
aQ
=
)

[=2]
c
. S g
[ =i =) 20 =
= = = c [ v O [
2 - - = £ 2 2@
2 3 S S G =} 5 b S o 2
=1 ] k<l S @ S S 85
Sols| o o E c § 5% @ B g =3 B3
Sec| 2 2 2= S = 9 o 1S = 28 a8g 5 oo 9 a
Ko | & = 8 I3 =Rl 2 © 5] 5 c 2 2 ZE 7 = 2
3ol e 5 s £ = = = o 2 5] == i T E
S o S O o < £ <
L0 2 2 ] L= < T 5 < £ 0 E® = S ® s> a c Qo
TS | @ 3 5% =5 [=s] o 5 0o @ o] =] 3] 3 c 5
= o | £ £ a2 ° & o [N 2 9] 3 =] =0 23 @ Q= 5 2 2 0 2
Qo > = O T L © ° c 14 = 7] 235 == c S o o = £ 0
Tg |8 3 B 3 5 5 2 3 53 e g 5o £ s 2 =9 a =
Eg |t = a1 35 o = @ ] S a) s g = ]
2 o © © 02 > 5 s F=3) ]
o] %] < < D= = = () o 0 c
& 2 £ £ © ] 2 o 3 S
< i = F2 n
= @
@ o
S

B3 B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental The packaging has been designed in accordance with current regulations. In particular,
certification 1SO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production The used packaging is 100% recyclable or recoverable.
offcuts and their end-of-life treatment, upstream transport of materials and sub- Packaging and logistic flows are continuously improved in order to reduce their impact.
assemblies to the manufacturing site, and transport from the manufacturing site to the
final logistics platform. This phase taken into account the transport of the finished product, including

packaging, to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0 100% 0 0% 0 0% 0 0% 0 100%

For the considered scenario, the product has no energy consumption.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 65%. The calculation of this rate is based on the method of the IEC/TR 62635.

PEP ecopassport 2/5 HAGE-01333-V01.01-EN



Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

Al calculations are done with EIME software version 6.2.5-3 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturi Distribution Installation End Of Life

ng A4 A5 Ci1-C4

Europe Europe Europe Europe
Environmental impact indicators
. - Manufacturing Distribution Installation Use End Of Life

Indicators Unit AAG | A | S | Bl | c1-ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 2.44E-04 2.22E-05 2.84E-05 0.00E+00 4.09E-05 3.35E-04 4.06E-05
Climate change - Total (PEF-GWP) kg CO2 eq. 5.11E-02 3.50E-03 1.34E-02 0.00E+00 8.87E-03 7.69E-02 8.82E-03
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -1.34E-02 0.00E+00 2.24E-03 0.00E+00 2.00E-04 -1.10E-02 2.00E-04
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 6.45E-02 3.50E-03 1.12E-02 0.00E+00 8.67E-03 8.79E-02 8.62E-03
Climate change-Land use and land use
change (PEF-GWPIu) kg CO2 eq. 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Ecotoxicity, freshwater (PEF-CTUe) CTUe 6.76E-01 2.30E-03 1.41E-01 0.00E+00 2.21E-02 8.41E-01 2.21E-02
EF-particulate Matter (PEF-PM) '”g;g:;‘scss"f 1.57E-09 1.80E-10 1.71E-10 0.00E+00 4.48E-10 2.37E-09 4.45E-10
Eutrophication, freshwater (PEF-Epf) kg P eq. 2.73E-07 1.31E-09 1.41E-07 0.00E+00 5.17E-08 4.67E-07 5.17E-08
Eutrophication, marine (PEF-Epm) kg N eq. 5.65E-05 1.04E-05 1.31E-05 0.00E+00 8.80E-06 8.88E-05 8.65E-06
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 5.36E-04 1.14E-04 8.32E-05 0.00E+00 1.00E-04 8.34E-04 9.86E-05
Human toxicity, cancer (PEF-CTUh-c) CTUh 5.44E-09 6.16E-14 1.07E-09 0.00E+00 4.35E-12 6.51E-09 4.35E-12
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 3.15E-10 1.19E-12 3.19E-11 0.00E+00 5.39E-11 4.02E-10 5.39E-11
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 7.06E-02 8.53E-06 1.69E-03 0.00E+00 7.09E-04 7.30E-02 7.09E-04
Land use (PEF-LU) No dimension 7.34E-04 0.00E+00 2.58E-05 0.00E+00 1.59E-02 1.66E-02 1.59E-02
Ozone depletion (PEF-ODP) kg CFC-11 eq. 2.27E-09 5.37E-12 1.28E-10 0.00E+00 1.20E-09 3.60E-09 1.20E-09
Photochemical ozone formation - human
health (PEF-POCP) kg of NMVOC eq. 1.83E-04 2.88E-05 1.94E-05 0.00E+00 2.84E-05 2.59E-04 2.80E-05
Resource use, fossils (PEF-ADP) MJ 1.35E+00 4.89E-02 9.69E-02 0.00E+00 1.40E-01 1.64E+00 1.39E-01
(RT3 UG, I T (s 5.31E-09 1.38E-10 2.46E-10 0.00E+00 4.49E-08 5.06E-08 4.49E-08
(PEF-ADPe)
Water use (PEF-WU) 2.99E-02 1.33E-05 8.50E-04 0.00E+00 8.58E-01 8.88E-01 8.58E-01
Resource use indicators

: Manufacturing Distribution Installation Use End Of Life

Indicators ALA3 Ad | AS | B1.87 | ci-ca | GLOBAL | Module D
Net use of fresh water 6.95E-04 3.10E-07 1.98E-05 0.00E+00 3.34E-02 3.41E-02 3.34E-02
Total primary energy 1.41E+00 4.89E-02 1.10E-01 0.00E+00 1.47E-01 1.71E+00 1.46E-01
Total non renewable primary energy 1.35E+00 4.89E-02 9.69E-02 0.00E+00 1.40E-01 1.64E+00 1.39E-01
Total renewable primary energy 5.48E-02 6.52E-05 1.31E-02 0.00E+00 7.23E-03 7.52E-02 7.23E-03
Z:;;”ewab'e primary energy used as 9.05E-01 4.89E-02 9.69E-02 0.00E+00 1.40E-01 1.19E+00 1.39E-01
O enEWEBIE S RSOV ASEAEs (6 4.46E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.46E-01 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 3.83E-02 6.52E-05 1.31E-02 0.00E+00 7.23E-03 5.86E-02 7.23E-03
ie;:”waalme primary energy used as raw 1.66E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.66E-02 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 9.83E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 9.83E-03 0.00E+00

PEP ecopassport 3/5 HAGE-01333-V01.01-EN



Waste category indicators

Indicators

Hazardous waste disposed

Non hazardous waste disposed

Radioactive waste disposed

Output flow indicators

Indicators

Manufacturing

Al-A3
1.39E-03

Distribution
A4

0.00E+00

Installation
)

2.39E-04

B1-B7
0.00E+00

End Of Life
C1-C4

3.65E-21

GLOBAL

1.63E-03

3.65E-21

7.57E-02

1.23E-04

4.72E-03

0.00E+00

1.77E-06

8.06E-02

1.40E-20

2.34E-05

8.76E-08

5.27E-07

0.00E+00

1.26E-09

2.40E-05

0.00E+00

Manufacturing

A1-A3

Distribution
A4

Installation
A5

End Of Life
C1-c4

GLOBAL

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 1.67E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.67E-04 0.00E+00
Materials for energy recovery 2.27E-04 0.00E+00 1.18E-03 0.00E+00 0.00E+00 1.40E-03 0.00E+00
Materials for recycling 1.95E-04 0.00E+00 4.21E-04 0.00E+00 0.00E+00 6.16E-04 0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
9.23E-03 2.32E-05 4.96E-04 9.75E-03
Biogenic carbon content (declared unit) 2.58E-03 8.79E-06 1.96E-04 2.79E-03
Biogenic carbon content (functional unit) 2.58E-03 8.79E-06 1.96E-04 2.79E-03

ADEME APESA/RECORD EN 16485

od ardboarad Pape ood

a 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbo e eclared 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbo e 0 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Registration N°:

HAGE-01333-V01.01-EN

Drafting Rules

PEP-PCR-ed4-2021 09 06

Supplemented by

No PSR

Verifier accreditation N°:

VH37

Information and reference documents: www.pep-ecopassport.org

Date of issue: 2-2025

Validity period:

5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal e External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :

The picture has no contractual value.
All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a
concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport

4/5

HAGE-01333-V01.01-EN




Appendix

-[MJ]

minerals and metals

(PEF-ADPe) - [kg Sb eq]

an health (PEF-IR) - [kg Bq U235 eq.]
mary energy - [MJ]

n, marine (PEF-Epm) - [kg N eq.]

Land use (PEF-LU)

Exported energy - [MJ]
mary energy used as raw materi

nge - Total (PEF-GWP) - [kg CO2 eq.]
Components for re-use - [kg]
Hazardous waste disposed - [kg]
Materials for recycling - [kg]
Net use of fresh water - [m3]
Water use (PEF-WU) - [m3 eq

Materials for energy recovery - [kg]
Use of secondary material

Radioactive waste disposed - [kg]

Non hazardous waste disposed - [kg]
Resource use.

=
g
&

I
o
S
[
<
w
w
=
S
g
1]
=]
3
<

hication, terrestrial (PEF-Ept) - [mole of N eq.]
Resource use, fossils (PEF-ADPf) - [MJ]

Total renewable primary energy - [MJ]
Use of renewable secondary fuels - [MJ]

Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Total non renewable primary energy - [MJ]

Climate change-Fossil (PEF-GWP) - [kg CO2 eq.]
Eutrophication, freshwate
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Non renewable primary energy used as energy - [MJ]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Renewable primary energy used as energy - [MJ]
Use of non renewable secondary fuels - [MJ]

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Human toxicity, non-cancer (PEF-CTUh-nc) - [¢

Non renewable primary energy used as raw materi
EF-particulate Matter (PEF-PM) - [Incidence of diseases]
Renewable pi

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
lonising radiation, h

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

£2 WTRCEEI < ocos| osocoa) z0c0a| ssscae| oonesan| oooeron| soocioo] zoocor| rsocos| rsrcar| wrear| suseos| sascoo| asoco] amueor| zescon| camear| sosos| ooeos] soocor| seeo| asrear| ormos| aoscos| sxomos| wzmeos| sszeor| 1rmece| aoseroo| saseor| zosciol 21seio0| rzzee| oooeian| ooveron| sos] socon
g <
ig WTRCVPA oo asicon| amccn| ssoeie| oooesan| oooeson| sooeeo| moosor nscos| rsscor| weor| susmos| saseos| asseao] aweee| aevees| cvmor| 1o wsseos] soacos| eseco| asrees| ormos| somos| ameos| azreos| ssece| sroece| soseuo| rasor aoserol 2isewo| | oooean| oooesoe| ssseos ameon
s
= VRSO  ssseor| saseoo| osece| 75220z oooeoof ooomon| rizear| 2seor| saeos| saeos| amiees| sreos| seseas| ssiero] seoeoo| zeveos| asmeos| 1sseosf rasos| roieor| sosewco| ssieor| zaess| aizeos| roseos| aoseos| susez| 1r0er| 1semco| rzsear| asieeo| 1| raoecz| oooewoof oooeoo| eseas| szieoz
é*‘ WVIRGOSR  12c05| 170cca| oooeeao| 10eca| oooeeao| oooeico| riseas| esieao| sasecs| sraccs| ooveeto| ooomico| aoess| soveas| aoeos| oooeioo| oovesdo| oooeico| 1soeor| saseos| 2dscoe| ooomoo| 2ese| sosess| raseos| aseos| azecos| ovomoo| acece| sssens| 2ceoe| asece| azeeos| ocoesoo| oovesoo oooesoo| eoeoo
-
3 WA 1 iceos| s7seas| ooeao| smeas| owoean| ovomon| s1secs| seieno| saseos| sruees| ooveso] aooman| saoese| socess| ssoros| owein| omeo| oauewo| ssser] suseas| 2sec| oooman| zrre| sovers| sescos| ssieos| saseos| ooueo| 2usee| soens| zaenn| 2ar| saeos| owro| oweno| oouero| srecs
WREVEOMN  2ic0s| 276c0a) omeo| s7oeas| oooesao| oooeson| 1ssos) aieaol szaco| sracs| oooesao| oooeoo| asoeas| sooeas| secs| osoean| oooesao| oooeon| sseeor sscos| zescee| ooean| emese| somen| sseos| amcon| ameos| oomean| cuseoe| ssen| ssseor] asseor| ames| oooean| oooeson| aooeoo] areos
g2 MTREVEI ococ0] acocoo] oo oaneiao| oonesan| oooeson| aoocoo] acocoo] oo osoevan| oooesan| oooeion| aoocoo] asoroo] oameiso| osoeran| oonesan| oooeion| aoocioo] asoroo] oaneiso| osoesan| oooesan| ooosion| aoocoo] asoroo| oaneiso| oooesan| oooeroo| oooeion] woocoo] o] oaneiso| oooesan| oooeson| ooocioo] acocioo
& WEEVPAI 00| ococoo] ool ocoesan| oooesao| oooesoo| aooeeoo] acocsoo] oo osoesan| oooesao| oooesoo| aooceoo] acotsoo] oameso| osoesan| oooesao| oooeson| aoocsoo] acotsoo] oanesco| osoesan| oooesao| oooesoo| aoocsoo] acotsoo] oonesco| oooesan| oooesoo| aooesoo| aooesoo] oo oonesso| oooesan| oooeson| aooesoo] acocsoo
ANTREIVEO o coc0] acocoo] oo oaneiao| oonesan| oooeson| aoocoo] acocoo] oo osoeian| oooesan| oooeion| aoocoo] asoroo] oameio| osoeran| oonesan| oooeion| aoocioo] asoroo] oaneiso| osoesan| oooesan| oooeion| aoocoo] asoroo| oaneiso| oooesan| oooeroo| aoocion] aoocoo] o] oaneiso| oooesan| oooeson| ooocioo] acocioo
25 WREVEEI 00| ococoo] oo ocoesan| oooesao| oooesoo| aooceoo] acocsoo] oo osoesan| oooesao| oooesoo| aoocsoo] acotsoo] oameso| osoesan| oooesao| oooeson| aoocsoo] acotsoo] oanesco| osoesan| oooesao| oooesoo| woocsoo] acotsoo] oonesco| oooeuan| oooesoo| aooesoo| aoocsoo] oo oonesso| oooesan| oooeson| aooesoo| ncocoo
o
AMTREIVPA o coc0] acocoo] oo oaneiao| oonesan| oooeson| aoocoo] acocoo] oo osoevan| oooesan| oooeion| aoocoo] asoroo] oameio| osoeran| oooesan| oooeion| aoocoo] asoroo] oaneiso| osoeian| oooesan| oooeion| aoocoo] asoroo| oaneiso| oooesan| oooeroo| aoocion] aoocoo] oo oaneiso| osoesan| oooeron| ooocioo] acocioo
REVEO o0co0| ococoo] oo ocoesan| oooesao| oooesoo| aooceoo] acocsoo] oo osoesan| oooesco| oooesoo| aooceoo] acotsoo] oameso| osoesan| oooesao| oooeson| aoocsoo] acotsoo] oaneso| osoesan| oooesao| oooesoo| aoocsoo] acorsoo] oonesco| oooesan| oooesoo| aooesoo| aoocoo] oo oonesso| oooesan| oooeson| aooesoo| ncocoo
53 QYRS <ooccs] o] zoneo] sorean| omeus] omonco] zaiece] sirea] swess] sones] sorern] o] aseie] swen| rioea] o] ooen] aonenn| ssiene] srece] sucor| o] 1aes] wmero] zaeos] o] rser| aonen| sworn] awews] suen| soear] v oee| soresn| omeno] s
[eRS)
H WIEVPAN soocos| srcon) zcocas| asreas| oooesao| oooeson| creoa| sareon) ssocos| soncos| oooesao| oooeon| assese swsens| roscos| ssoece| oooesao| oooeon| aweoo| s7eos| seocs| oooean| seneos| asseso] swos| szscos| | oomean| suor| aseos| saocor| rereos| rzmec| oooean| oooeson| oooeoo] aseor
WTRCEIORN  «oocos| sorcoo] zooco| serea| oooesan| oooeion| 2moa| sareoo] ssocoo| soncas| oooesan| ooomon| wssese] sosens| roocos| sssece| oonesan| ooomon| ssseoa| srreos| ssocos| osoeien| naoeos| assero] zoscos| szecos| rzseo| oooean| saeor| wsseos saocor| sureor| rze| oooeian| oooeron| oooeion] aseor
[=]
2 WVICOIE R «oocos| 100z smsen] -sosece| aomsco| ooocwo| 2sieor] naveon| azseos| 1scos| oooeeoo] roeos| amaei| voreao| soseos] zeseon| owosico| vooeoo| srzeos) wzmeas| asscor| vooeeoo| raien| asoeso| ssscos| aros| arseoe] owetn| asscor| 20| araeor] asoear| amer| o] vooeion| owen| asear
H WTRCP  «oocos| aoacoo] zo0co| sezean| oonesan| oooeion| 2meoa) sareoo) msscoo| ssscas| oooesan| ooomon| wssese] sosens| roocos| sssece| oooesan| oooeion| ssscoa) aocioo| 130ces| osoeian| naoeos| asscao] zocos| avosioo| rzseao| oooeian| ssseor| wsseos] so9e| sascor| rmea| oooeian| oooeron| oooeon] asocor
WTRCEOIN  soscos| socon) zocos| asees| oooesao| oooeson| creon| sareon) mssco| ssseas| oooesao| oooeon| aasese| swens| roscos| ssoece| oooesao| oooeon| ason) ocowo| sascs| oooean| seneos| asseio] aoeos| oorwo| rzseco| oooean| sueor| aseos| saeor| sascos| | oooean| oooeson| oo wseor

PEP ecopassport 5/5 HAGE-01333-V01.01-EN



